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MEEDET T oo N B (A EKRER FEB
REMND | mmmerssTRESORECRSND 300,000
BERERL A= 500m? 500,000
E20RE-SOORE (BRFE=S0. FMm 500m2 <A< 3000m?2 800,000
SOICEITBREESE. ) [Tk D5 3.000m2 <A< 10,000m>2 1,200,000
(BRI DR SR = 10,000m? <A= 50,000m? 1,500,000
e V\ZEREYD) 50,000m? <A 2,000,000
REMERE B A<  500m? 500,000
FEO0RE—SDORTICH DD 500m2 <A=Z  3000m? 800,000
(BB 3,000m? <A< 10,000m?2 1,200,000
10,000m? <A< 50,000m? 1,500,000
50,000m? <A 2,000,000
BEEELRBTDS A= 500m? 300,000
E108RND3H 1 BE-SOREICHDE 500m2 <A< 3,000m? 450,000
(EEREB DM N EAE 3,000m2 <A< 10,000m?2 600,000
10,000m2 <A 50,000m?2 800,000
T B ___ 50,000m? <A 1,000,000
BEEELETS A= 500m? 250,000
£108RMD 3HABDBREIC K D5 500m2 <A< 3000m? 400,000
(FHRXBEOEEE 3,000m2 <A< 10,000m?2 550,000
10,000m2 <A< 50,000m?2 700,000
50,000m? <A 850,000
BEEELRBTDS A= 500m? 350,000
B129%M25 1 BOREICH D 500m2 <A< 3,000m2 500,000
(et ae 3,000m2 <A< 10,000m?2 700,000
10,000m2 <A 50,000m?2 900,000
o B 50,000m? <A 1,100,000
ZEtRE BEEEEETS A< 500m?2 350,000
B120RN2N2% 1 BOREICH DI 500m? <A< 3,000m? 500,000
(REBH LA 3,000m2 <A< 10,000m?2 700,000
10,000m2 <A< 50,000m2 900,000
50,000m? <A 1,100,000
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